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Question 9 is compulsory
1 Explain the difference between economic growth and economic development in detail.
2 Explain the obstacles to economic development.
3 Discuss the new paradigm of rural development.

4 Discuss the needs of rural development with the causes of rural backwardness.

5 Discuss the new paradigm of rural development.
6 Critically evaluate the Lewis model of economic development.
7 Discuss the various issues in Protecting environment in rural development.

8 Explain the various participatory schemes in rural development in India.

9 Give right options from below. 08
I 1 Is economic welfare related to the economic development?

A Yes B No C Not sure D All above

2 In which ycar HDI is published first time?

A -1990 B 1991 C 2005 D 2020

3 Urbanization problem created mainly because of

A Lower GDP B Lower Inflation C Lower poverty D Lower employment
4 Rural cconomy is normally based economy.

A Agriculture B Industry C Foreign D All above

5 Supply of labour is elastic according to Lewis.

A Relatively B Perfectly C Zero D Unitary

6 In which year did the MNREGA scheme start?

A Basic goods. B Basic Services C Goods and services D None of these
7 Under which program HDI was published first time?

A Five year planning B Niti Ayog C UNDP D WTO

8 Government should spend more for development of human resource.

A Social Services B Economic Services C Administrative services D Health services
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